5] R ZHA D NOS NAME

|| Nos T A ADIC & 5 WEUTR 14
Aa—XA Ba—XA Ca—XA

@ x*+4x+3 @ x*+10x+21 @ x*—6x—16

= 2+ Q+3)x+1x3 = X+ @+Nx+3X7 = x’+@Q—8x+2X—8

= Gt D&+3) = (+3)&+7) = (++2)(x—8)

@ a*+6at8 @ b2+13b+36 @ a*+4a—45

= @*+2+4at+2x4 = b*+@+9b+4x9 = a*+(9—5)at9x—5

= (¢+2)(a+4) = (p+490H+9) = (@+9a—5)

® x*—3x+2 @ x*—Tx+12 @ y*+7y—30

= 22+ (=1-2x—1X—2 = x*+(=3—4r—4X—3 = y?+(10—3)y +10X —3

= (—1Dx—2) = (x—3)x—4) = (y+10(y—3)

@ a*—10a+16 @ p>—14p+48 @ p>—3p—170

= ?+(—2—8)a—2X—8 = p*+(—6—8)p—6x—8 = p?+(7T—10p +7X —10

= (@298 = (p—6)(p—9 = (p+7(p—10)

® x*+2x—15 ® x*+4x—12 ® x*—4x—21

= x>+ (5—3)x+5X—3 = 2+ (6—2)x+6X—2 = 2?+@—Dx+3X—7

= (x—3)x+5) = (xt6)k—2) = (+3)&—7)

® x*—x—6 ® x*—2x—24 ® x*t+6x—72

= 22+@2—3)x+2X—3 = x2+(4—6)x+4X—6 = x2+(12—6)xy + (12X —6)y?

= (x—3)x+2) = (x+4)x—6) = (xr+12y)(x—6y)

@ a*+8a—20 @ y*—Ty—8 @ x*—Tx+10

= @*+(10—2)a+10X —2 = y?2+(1—8)y+1x—8 = x*+(=2—5)x—2X—5

= (a—2)(a+10) = (y+DGH—8) = (x—2)x—5)

m?* —m—20 x*+3x—28 x?—4xy—12y?

= m*+{@—5)m+4x—5 = T DrtTX—4 = 2+ Q2 6)xy+(2X —12)y”

= (m+4)(m—>5) = tDh—9) = (x+29)(x—6y)

@ x*+13xy+30y2 © x*—8ax+15a> @ 6a>—1Tab+6b?

= x2+(3+10)xy +(3X10)y2
= (x+3y(x+10y)
©64>—3ab—18b2

= a*+(B—6)ab+(3X —6)b”
= (a+3b)a—6b)

@ m?*—8mn+12n>

= m*+(=2—6)mn+t(—2X—6)n?
= (m—2n)(m—6n)

@ x2+6xy+8y2

= x2+@2+4)xy+(2X4)y2
= (x+2y)(x+4y)

= x*+(—3—5)ax+(—3X —5)a2
= (x—3a)x—5a)

p*Tpg—42q¢*

= p?+(T—6)pq+ (71X —6)y?

= (p+79(p—6q)

@642 —10ab+16b2

= a*+(—2—8)ab+(—2X —8)h*
= (@a—2b)(a—8b)
©@6a>—ab—T2b2

= a*+(8—9ab+(8X —9)p*

= (a—9b)(a+8b)

= a*+(—1—6)ab+(—1X —6)b*
= (@—b)a—6b)

m>—22mn+ 40n?

= m?+(—2—20)mn +(—2X —20)n2
= (m—2n)(m—20n)

@ x*+4ax—60a?

= x?+(10—6)ax + (10X —6)a?
= (¢ +10b)(a—6b)

@ x*'—12x>+32

= x'+(—4—8)x"—4xX—8

= (*—49)K*—8)



